6. It is necessary thathe _____the assignment without delay.
A hand in B. hands in
C. must hand in D. has to hand in
7. Associated with the issue of enabling older people to be active participants in
a country’s development is the need for lifelong learning programs to
members of the ageing population to find employment.

A. empower B. entrust C. embed D. entice
8. The parents are _____ towards the issue as to whether their child should walk
to school or the father should drive him to school.
A ambivalent B. ambiguous C. arbitrary D. approximate
9. But for herhelp, I
A. did not succeed B. had not succeeded
C. should not have succeeded D. have not succeeded
10. The sale usually takes place outside the house, with the audience _ on
benches, chairs or boxes.
A having seated B. seating C.seated D. having been seated
11. There was aperiod of ____ prior to their divorce, during which she went for
a trip around the world and he stayed at home.
A. strangeness B. estrangement
C. machination D. frivolity
12. The acceleration growth of public employment  the dramatic

expansion of budgets and programs.
A. parallels B. contains C. revolves D. populates
13. The main reason for the population growth isn’t s much a rise in birth rates
_ afall in death rates as a result of improvements in medical care.
A. and B.as C. but D. rather than
14. Several decades ago, wealthy people liked hunting wild animals for fun

sightseeing.
A. rather than to go B. more than going
C. other than going D. than to go
15. Not every _ mansion, church, battle sites, theater, or other public hall
can be preserved.
A. novel B. new C. unknown D. venerable
16. ___ 1in a recent science competition, the three students were awarded
scholarships totaling  $ 20,000.
A. To be judged the best B. Judging the best
C. Having judged the best D. Judged the best



